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QUESTION 1

For manageability purposes, you have been told to add a "count" instance variable to a critical JSP Document so that a
JMX MBean can track how frequent this JSP is being invoked. Which JSP code snippet must you use to declare this
instance variable in the JSP Document? 

A. int count = 0; 

B.  

C. int count = 0; 

D. int count = 0; 

Correct Answer: A 

 

QUESTION 2

Given: 

3.

 class MyServlet extends HttpServlet { 

4.

 public void doPut(HttpServletRequest req, HttpServletResponse resp) throws ServletException, IOException { 

5.

 // servlet code here ... 

26.

 } 

27.

 } 

If the DD contains a single security constraint associated with MyServlet and its only tags and tags are: 

GET PUT Admin 

Which four requests would be allowed by the container? (Choose four.) 

A. A user whose role is Admin can perform a PUT. 

B. A user whose role is Admin can perform a GET. 

C. A user whose role is Admin can perform a POST. 

D. A user whose role is Member can perform a PUT. 
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E. A user whose role is Member can perform a POST. 

F. A user whose role is Member can perform a GET. 

Correct Answer: ABCE 

 

QUESTION 3

Given an HttpServletRequest request: 

22.

 String id = request.getParameter("jsessionid"); 

23.

 // insert code here 

24.

 String name = (String) session.getAttribute("name"); 

Which three can be placed at line 23 to retrieve an existing HttpSession object? (Choose three.) 

A. HttpSession session = request.getSession(); 

B. HttpSession session = request.getSession(id); 

C. HttpSession session = request.getSession(true); 

D. HttpSession session = request.getSession(false); 

E. HttpSession session = request.getSession("jsessionid"); 

Correct Answer: ACD 

 

QUESTION 4

In a JSP-centric shopping cart application, you need to move a client\\'s home address of the Customer object into the
shipping address of the Order object. The address data is stored in a value object class called Address with properties
for: street address, city, province, country, and postal code. Which two JSP code snippets can be used to accomplish
this goal? (Choose two.) 

A.  

B.  

C.  

D.  

E.  
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F.  

Correct Answer: BE 

 

 

QUESTION 5

The Squeaky Bean company has decided to port their web application to a new J2EE 1.4 container. While reviewing the
application, a developer realizes that in multiple places within the current application, nearly duplicate code exists that
finds enterprise beans. Which pattern should be used to eliminate this duplicate code? 

A. Transfer Object 

B. Front Controller 

C. Service Locator 

D. Intercepting Filter 

E. Business Delegate 

F. Model-View-Controller 

Correct Answer: C 

 

QUESTION 6

Given the security constraint in a DD: 

101.

  

102.

  

103.

 Foo 

104.

 /Bar/Baz/* 

105.

 POST 

106.
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107.

  

108.

 DEVELOPER 

109.

  

110.

  

And given that "MANAGER" is a valid role-name, which four are true for this security constraint? (Choose four.) 

A. MANAGER can do a GET on resources in the /Bar/Baz directory. 

B. MANAGER can do a POST on any resource in the /Bar/Baz directory. 

C. MANAGER can do a TRACE on any resource in the /Bar/Baz directory. 

D. DEVELOPER can do a GET on resources in the /Bar/Baz directory. 

E. DEVELOPER can do only a POST on resources in the /Bar/Baz directory. 

F. DEVELOPER can do a TRACE on any resource in the /Bar/Baz directory. 

Correct Answer: ACDF 

 

 

QUESTION 7

Squeaky Beans Inc. hired an outside consultant to develop their web application. To finish the job quickly, the consultant
created several dozen JSP pages that directly communicate with the database. The Squeaky business team has since
purchased a set of business objects to model their system, and the Squeaky developer charged with maintaining the
web application must now refactor all the JSPs to work with the new system. Which pattern can the developer use to
solve this problem? 

A. Transfer Object 

B. Service Locator 

C. Intercepting Filter 

D. Business Delegate 

Correct Answer: D 

 

QUESTION 8
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You need to store a Java long primitive attribute, called customerOID, into the session scope. Which two code snippets
allow you to insert this value into the session? (Choose two.) 

A. long customerOID = 47L;session.setAttribute("customerOID", new Long(customerOID)); 

B. long customerOID = 47L;session.setLongAttribute("customerOID", new Long(customerOID)); 

C. long customerOID = 47L;session.setAttribute("customerOID", customerOID); 

D. long customerOID = 47L;session.setNumericAttribute("customerOID", new Long(customerOID)); 

E. long customerOID = 47L;session.setLongAttribute("customerOID", customerOID); 

F. long customerOID = 47L;session.setNumericAttribute("customerOID", customerOID); 

Correct Answer: AC 

 

QUESTION 9

Which JSTL code snippet can be used to import content from another web resource? 

A.  

B.  

C.  

D.  

E. Importing cannot be done in JSTL. A standard action must be used instead. 

Correct Answer: A 

 

QUESTION 10

Given: 

6.

  

7.

  

8.

  

and a custom tag handler for foo which extends TagSupport. 

Which two are true about the tag handler referenced by foo? (Choose two.) 
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A. The doStartTag method is called once. 

B. The doAfterBody method is NOT called. 

C. The EVAL_PAGE constant is a valid return value for the doEndTag method. 

D. The SKIP_PAGE constant is a valid return value for the doStartTag method. 

E. The EVAL_BODY_BUFFERED constant is a valid return value for the doStartTag method. 

Correct Answer: AC 

 

 

QUESTION 11

Given a servlet mapped to /control, place the correct URI segment returned as a String on the corresponding
HttpServletRequest method call for the URI: /myapp/control/processorder. 

Select and Place: 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 12
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Which element of a web application deployment descriptor element is required? 

A.  

B.  

C.  

D.  

E.  

Correct Answer: E 

 

QUESTION 13

You have a use case in your web application that adds several session-scoped attributes. At the end of the use case,
one of these objects, the manager attribute, is removed and then it needs to decide which of the other session-scoped
attributes to remove. 

How can this goal be accomplished? 

A. The object of the manager attribute should implement the HttpSessionBindingListener and it should call the
removeAttribute method on the appropriate session attributes. 

B. The object of the manager attribute should implement the HttpSessionListener and it should call the removeAttribute
method on the appropriate session attributes. 

C. The object of the manager attribute should implement the HttpSessionBindingListener and it should call the
deleteAttribute method on the appropriate session attributes. 

D. The object of the manager attribute should implement the HttpSessionListener and it should call the deleteAttribute
method on the appropriate session attributes. 

Correct Answer: A 

 

QUESTION 14

In a JSP-centric shopping cart application, you need to move a client\\'s home address of the Customer object into the
shipping address of the Order object. The address data is stored in a value object class called Address with properties
for: street address, city, province, country, and postal code. Which two JSP code snippets can be used to accomplish
this goal? (Choose two.) 

A.  

B.  

C.  

D.  

E.  
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F.  

Correct Answer: BE 

 

 

QUESTION 15

Which three are described in the standard web application deployment descriptor? (Choose three.) 

A. session configuration 

B. MIME type mappings 

C. context root for the application 

D. servlet instance pool configuration 

E. web container default port bindings 

F. ServletContext initialization parameters 

Correct Answer: ABF 
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